Applied Mathematical Sciences, Vol. 16, 2022, no. 1, 19-25
HIKARI Ltd, www.m-hikari.com
https://doi.org/10.12988/ams.2022.916735

# A Solution of the Cartesian (2:1) Unbalanced Poisson-Boltzmann Equation 

F. Fonseca<br>Universidad Nacional de Colombia<br>Departamento de Física<br>Bogotá, Colombia

This article is distributed under the Creative Commons by-nc-nd Attribution License. Copyright © 2022 Hikari Ltd.


#### Abstract

In this paper, we solve the cartesian Poisson-Boltzman (PB) equation in two-dimensions for a 2:1 electric charge unbalanced configuration. We apply, the tanh, Ricatti functions and Jacobi elliptic solitary wave methods, getting several families of solutions.


Keywords: Unbalanced Poisson-Boltzman (PB) equation, Tanh method, Ricatti functions, Jacobi elliptic functions

## 1 Introduction

The Poisson-Boltzmann (PB) equation gives account of the electrostatic potential of an electrolyte solution [1]. PB is a highly diffcult differential equation to solve analytically. Basically, it is a Poisson equation with sources that are exponential field dependent [2]. Therefore, its most direct and powerful application is found in the framework of computational field, Delphi [3]-[4] and Charmm [5]. In this work, we use analytical methods, known as solitary wave solutions [6]-[9], in order to find solutions to electrical potential of an asymmetrical electrolyte (2:1).

## 2 Two-dimensional Unbalanced Poisson-Boltzmann equation

The unbalanced (2:1) cartesian Poisson-Boltzmann equation is:

$$
\begin{equation*}
\frac{\partial^{2} \phi}{d x^{2}}+\frac{\partial^{2} \phi}{d y^{2}}=-\kappa^{2}\left(e^{(-2 \phi)}-e^{(\phi)}\right) \tag{1}
\end{equation*}
$$

Here, $\kappa^{-1}$ is the Debye screening length [1]. Using the transformation $\xi=x+y$, and its second derivative, we get:

$$
\begin{equation*}
2 \frac{d^{2}}{d \xi^{2}} \phi=\kappa^{2}\left(-e^{(-2 \phi)}+e^{(\phi)}\right) \tag{2}
\end{equation*}
$$

Now defining the variable and the first and second derivative

$$
\begin{equation*}
v=v_{0} e^{\phi}, \quad \frac{d \phi}{d \xi}=\frac{1}{v} \frac{d v}{d \xi}, \frac{d^{2} \phi}{d \xi^{2}}=-\frac{1}{v^{2}}\left(\frac{d v}{d \xi}\right)^{2}+\frac{1}{v} \frac{d^{2} v}{d \xi^{2}} \tag{3}
\end{equation*}
$$

And replacing in eqs. (2)

$$
\begin{equation*}
-v_{0}\left(\frac{d v}{d u}\right)^{2}+v_{0} v \frac{d^{2} v}{d u^{2}}+\frac{\kappa^{2}}{2} v_{0}^{3}-\frac{\kappa^{2}}{2} v^{3}=0 \tag{4}
\end{equation*}
$$

Now, we introduce a new independent variable [6]:

$$
\begin{equation*}
Y=\tanh (\mu u) \tag{5}
\end{equation*}
$$

Then, the derivatives of $u$, are:

$$
\begin{equation*}
\frac{d}{d u}=\mu\left(1-Y^{2}\right) \frac{d}{d Y}, \quad \frac{d^{2}}{d u^{2}}=-2 Y \mu^{2}\left(1-Y^{2}\right) \frac{d}{d Y}+\mu^{2}\left(1-Y^{2}\right)^{2} \frac{d^{2}}{d Y^{2}} \tag{6}
\end{equation*}
$$

The solutions are postulated as [6]:

$$
\begin{equation*}
v=\sum_{i=1}^{m} a_{i} Y^{i} \tag{7}
\end{equation*}
$$

Then replacing

$$
\begin{align*}
& -2 v_{0} v \mu^{2} Y\left(1-Y^{2}\right) \frac{d v}{d Y}+v_{0} v \mu^{2}\left(1-Y^{2}\right)^{2} \frac{d^{2} v}{d Y^{2}}  \tag{8}\\
& -v_{0} \mu^{2}\left(1-Y^{2}\right)^{2}\left(\frac{d v}{d Y}\right)^{2}+\frac{\kappa^{2}}{2} v_{0}^{3}-\frac{\kappa^{2}}{2} v^{3}=0
\end{align*}
$$

Now, we balance the highest-order linear derivative with the highest order nonlinear terms in eq. (8). So, $v Y^{4} \frac{d^{2} v}{d Y^{2}} \rightarrow v^{3} \rightarrow m=2$. So, replacing in eq. (7), we obtain:

$$
\begin{equation*}
v=a_{0}+a_{1} Y+a_{2} Y^{2} \tag{9}
\end{equation*}
$$

Replacing in eq. (8), we get a polynomial in $Y^{i}$ and order by order in $Y^{i}$ we obtain a set of equations. Doing some algebra, we get:

$$
\begin{gather*}
f_{1} \rightarrow\left(a_{0}=-\frac{v_{0}}{2}, a_{1}=0, a_{2}=3 \frac{v_{0}}{2}, \kappa=-2 \mu \sqrt{\frac{2}{3}}\right)  \tag{10}\\
f_{2} \rightarrow\left(a_{0}=-\frac{v_{0}}{2}, a_{1}=0, a_{2}=3 \frac{v_{0}}{2}, \kappa=2 \mu \sqrt{\frac{2}{3}}\right)  \tag{11}\\
f_{3} \rightarrow\left(a_{0}=-(-1)^{2 / 3} \frac{v_{0}}{2}, a_{1}=0, a_{2}=(-1)^{2 / 3} 3 \frac{v_{0}}{2}, \kappa=-2(-1)^{-1 / 3} \mu \sqrt{\frac{2}{3}}\right)  \tag{12}\\
f_{4} \rightarrow\left(a_{0}=-(-1)^{2 / 3} \frac{v_{0}}{2}, a_{1}=0, a_{2}=(-1)^{2 / 3} 3 \frac{v_{0}}{2}, \kappa=2(-1)^{-1 / 3} \mu \sqrt{\frac{2}{3}}\right)  \tag{13}\\
f_{5} \rightarrow\left(a_{0}=(-1)^{1 / 3} \frac{v_{0}}{2}, a_{1}=0, a_{2}=-(-1)^{1 / 3} 3 \frac{v_{0}}{2}, \kappa=-2(-1)^{-2 / 3} \mu \sqrt{\frac{2}{3}}\right)  \tag{14}\\
f_{6} \rightarrow\left(a_{0}=(-1)^{1 / 3} \frac{v_{0}}{2}, a_{1}=0, a_{2}=-(-1)^{1 / 3} 3 \frac{v_{0}}{2}, \kappa=2(-1)^{-1 / 3} \mu \sqrt{\frac{2 v_{0}}{3}}\right) \tag{15}
\end{gather*}
$$

Then, we get six families of solutions.

## 3 Solitary wave method 2, Solutions Riccati equation

We use using the method presented in [7], to get solutions for eqs. (4). So:

$$
\begin{equation*}
v=\sum_{i=1}^{n} a_{i} F^{i} \tag{16}
\end{equation*}
$$

where $F$ solves, table (1), the Riccati equation, then:

|  | $A_{1}$ | $C_{1}$ | F |
| :--- | :--- | :--- | :--- |
| 1 | $1 / 2$ | $-1 / 2$ | $\operatorname{coth}(\xi) \pm \cosh (\xi), \tanh (\xi) \pm i \operatorname{sech}(\xi)$ |
| 2 | $1 / 2$ | $1 / 2$ | $\sec (\xi) \pm \tan (\xi)$ |
| 3 | $-1 / 2$ | $-1 / 2$ | $\csc (\xi) \pm \operatorname{icot}(\xi)$ |
| 4 | 1 | -1 | $\tanh (\xi), \operatorname{coth}(\xi)$ |
| 5 | 1 | 1 | $\tan (\xi)$ |
| 6 | -1 | -1 | $\cot (\xi)$ |

Table 1: Solutions for eqs. (17), [7] .

$$
\begin{equation*}
F^{\prime}=\left(C_{1} F^{2}+A_{1}\right), \quad F^{\prime \prime}=2 C_{1} F\left(C_{1} F^{2}+A_{1}\right) \tag{17}
\end{equation*}
$$

here $A_{1}$ and $C_{1}$ are constants, table (1). Replacing in eqs. (4), and balancing nonlinear terms, we have $n=2$. Then, eq. (16) is, $v=\left(a_{0}+a_{1} F+a_{2} F^{2}\right)$. Therefore, the derivatives are:

$$
\begin{align*}
& v^{\prime}=\left(a_{1}+2 a_{2} F\right) F^{\prime}=\left(a_{1}+2 a_{2} F\right)\left(C_{1} F^{2}+A_{1}\right), v^{\prime \prime}=\left(\left(2 a_{2} F^{\prime}\right) F^{\prime}\right.  \tag{18}\\
& \left.+\left(a_{1}+2 a_{2} F\right) F^{\prime \prime}\right)=\left(2 a_{2}\left(C_{1} F^{2}+A_{1}\right)^{2}+\left(a_{1}+2 a_{2} F\right) 2 C_{1} F\left(C_{1} F^{2}+A_{1}\right)\right)
\end{align*}
$$

Replacing in eq. (4), we obtain a group of algebraic equations, order by order in $F^{i}$. And doing some algebra, we get:

$$
\begin{gather*}
g_{1} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=-2 i \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=-2 a_{0}\right)  \tag{19}\\
g_{2} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=2 i \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=-2 a_{0}\right)  \tag{20}\\
g_{3} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=-2(-1)^{1 / 6} \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=2(-1)^{1 / 3} a_{0}\right)  \tag{21}\\
g_{4} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=2(-1)^{1 / 6} \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=2(-1)^{1 / 3} a_{0}\right)  \tag{22}\\
g_{5} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=-2(-1)^{5 / 6} \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=-2(-1)^{2 / 3} a_{0}\right)  \tag{23}\\
g_{6} \leftarrow\left(a_{1}=0, a_{2}=\frac{3 C_{1} a_{0}}{A_{1}}, \kappa=2(-1)^{5 / 6} \sqrt{\frac{2 A_{1} C_{1}}{3}}, v_{0}=-2(-1)^{2 / 3} a_{0}\right) \tag{24}
\end{gather*}
$$

Then, we get thirty six families of solutions, $g_{i}$, using Ricatti method [7].

|  | $\epsilon$ | $a$ | $b$ | $c$ | $G$ |
| :--- | :--- | :--- | :--- | :--- | :--- |
| 1 | -1 | $-m^{2}$ | 1 | 1 | $\operatorname{sn}(\xi)$ |
| 2 | -1 | $m^{2}$ | $1-m^{2}$ | 1 | $c n(\xi)$ |
| 3 | -1 | 1 | $m^{2}-1$ | 1 | $d n(\xi)$ |
| 4 | -1 | $-m^{2}$ | 1 | 1 | $c d(\xi)$ |
| 5 | $m^{2}-1$ | $m^{2}$ | 1 | 1 | $s d(\xi)$ |
| 6 | $1-m^{2}$ | 1 | -1 | 1 | $n d(\xi)$ |
| 7 | 1 | 1 | $-m^{2}$ | -1 | $d c(\xi)$ |
| 8 | 1 | $1-m^{2}$ | $m^{2}$ | -1 | $n c(\xi)$ |
| 9 | 1 | $1-m^{2}$ | 1 | 1 | $s c(\xi)$ |
| 10 | 1 | 1 | $-m^{2}$ | -1 | $n s(\xi)$ |
| 11 | 1 | 1 | $m^{2}-1$ | $m^{2}$ | $d s(\xi)$ |
| 12 | 1 | 1 | $1-m^{2}$ | 1 | $c s(\xi)$ |

Table 2: The Solutions for eq. (25), [8] .

## 4 Solitary wave method 3, Jacobi solutions

We start with the solutions, table (2), given by the next differential equation:

$$
\begin{equation*}
\left(G^{\prime}\right)^{2}=\left(c+\epsilon G^{2}\right)\left(a G^{2}+b\right) \tag{25}
\end{equation*}
$$

Where $a, b, c$ and $\epsilon$ are given in table (2). Also, they satisfy the next relations:

$$
\begin{align*}
& \operatorname{sn}(\xi, k)^{2}+c n(\xi, k)^{2}=k^{2} \operatorname{sn}(\xi, k)^{2}+d n(\xi, k)^{2}=1  \tag{26}\\
& 1+c s(\xi, k)^{2}=k^{2}+d s(\xi, k)^{2}=n s(\xi, k)^{2} \\
& \left(1-k^{2}\right) \operatorname{sd}(\xi, k)^{2}+1=d c(\xi, k)^{2}=\left(1-k^{2}\right) n c(\xi, k)^{2}+k^{2} \\
& k^{2}\left(1-k^{2}\right) s d(\xi, k)^{2}=k^{2}\left(c d(\xi, k)^{2}-1\right)=\left(1-k^{2}\right)\left(1-n d(\xi, k)^{2}\right)
\end{align*}
$$

and $k^{\prime}=\operatorname{sqrt}\left(1-k^{2}\right)$

$$
\begin{align*}
& \operatorname{sn}(i \xi, k)=(i) s n\left(\xi, k^{\prime}\right), \quad d c(i \xi, k)=d n\left(\xi, k^{\prime}\right)  \tag{27}\\
& c n(i \xi, k)=n c\left(\xi, k^{\prime}\right), \quad n c(i \xi, k)=c n\left(\xi, k^{\prime}\right) \\
& d n(i \xi, k)=d c\left(\xi, k^{\prime}\right), \quad s c(i \xi, k)=(i) s n\left(\xi, k^{\prime}\right) \\
& c d(i \xi, k)=n d\left(\xi, k^{\prime}\right), \quad n s(i \xi, k)=(-i) c s\left(\xi, k^{\prime}\right) \\
& s d(i \xi, k)=(i) n d\left(\xi, k^{\prime}\right), \quad d s(i \xi, k)=(-i) d s\left(\xi, k^{\prime}\right) \\
& n d(i \xi, k)=c d\left(\xi, k^{\prime}\right), \quad c s(i \xi, k)=(-i) n s\left(\xi, k^{\prime}\right)
\end{align*}
$$

and the second derivative is:

$$
\begin{equation*}
G^{\prime \prime}=2 a \epsilon^{2} G^{3}+(a c+b \epsilon) G \tag{28}
\end{equation*}
$$

We use a version of the method given in [9], where the solutions to eq. (4), are given by;

$$
\begin{equation*}
v=\sum_{i=1}^{n} a_{i} G^{i} \tag{29}
\end{equation*}
$$

Balancing nonlinear terms in eq. (4), we have $n=2$, the solution is:

$$
\begin{equation*}
v=\left(a_{0}+a_{1} G+a_{2} G^{2}\right) \tag{30}
\end{equation*}
$$

Then, we obtain a group of equations, order by order in $G^{i}$. And doing algebra, we get:

$$
\begin{align*}
& g_{1} \leftarrow\left\{a_{0}=0, a_{1}=\frac{1}{2 e}, a_{2}=0, b=\frac{i \sqrt{a} \kappa v_{0}}{\sqrt{2} \sqrt{e}}, c=-\frac{i \sqrt{e} \kappa v_{0}}{\sqrt{2} \sqrt{a}}\right\}  \tag{31}\\
& g_{2} \leftarrow\left\{a_{0}=0, a_{1}=\frac{1}{2 e}, a_{2}=0, b=-\frac{i \sqrt{a} \kappa v_{0}}{\sqrt{2} \sqrt{e}}, c=\frac{i \sqrt{e} \kappa v_{0}}{\sqrt{2} \sqrt{a}}\right\} \tag{32}
\end{align*}
$$

Then, we get twenty four families of solutions, $g_{i}$, using Jacobi solutions [8]-[9].

## 5 Conclusions

In this paper, we solve the unbalanced (2:1) Cartesian Poisson-Boltzmann equation applying several solitary wave methods. Then, using tanh method we find six families of solutions. Also, using the Ricatti functions, we get thirty six families of solutions. At last, utilizing Jacobi elliptic functions, we obtain twenty four families of solutions. In general, the solutions are:

$$
\begin{equation*}
\phi=\ln \left(\frac{a_{0}+a_{2} \tanh ^{2}(\mu u)}{v_{0}}\right), \phi=\ln \left(\frac{a_{0}+a_{2} F^{2}(u)}{v_{0}}\right), \phi=\ln \left(\frac{a_{0}+a_{1} G(u)}{v_{0}}\right) \tag{33}
\end{equation*}
$$

Acknowledgements. This research was supported by Universidad Nacional de Colombia in Hermes project (42840).

## References

[1] D. Andelman, in Soft Condensed Matter Physics in Molecular and Cell Biology, edited by W. C. K. Poon and D. Andelman (Taylor \& Francis, New York, 2006), Chap. 6, 97122.
[2] F. Andrietti, A. Peres and R. Pezzotta, Exact solution of the unidimensional poisson-boltzmann equation for a 1:2 (2:1) electrolyte, Biophys J., 16 (1976), no. 9, 1121-1124.
https://doi.org/10.1016/S0006-3495(76)85761-X
[3] Li C, Jia Z, Chakravorty A, Pahari S, Peng Y, Basu S, Koirala M, Panday SK, Petukh M, Li L, Alexov E. DelPhi Suite: New Developments and Review of Functionalities, J. Comput. Chem., 40 (2019), no. 28, 25022508. https://doi.org/10.1002/jcc. 26006
[4] Li L, Li C, Sarkar S, Zhang J, Witham S, Zhang Z, Wang L, Smith N, Petukh M, Alexov E. DelPhi: a comprehensive suite for DelPhi software and associated resources, BMC Biophys., 5 (2012), no. 1, 9.
https://doi.org/10.1186/2046-1682-5-9
[5] Brooks B.R., Brooks C.L., Mackerell A.D., Nilsson L., Petrella R.J., Roux B., Won Y., Archontis G., Bartels C., Boresch S., et al. CHARMM: The Biomolecular Simulation Program, J. Comput. Chem., 30 (2009), 15451614. https://doi.org/10.1002/jcc. 21287
[6] W. Malfliet, W. Hereman, The tanh method. I: Exact solutions of nonlinear evolution and wave equations, PhysScripta, 54 (1996), 563-568. https://doi.org/10.1088/0031-8949/54/6/003
[7] E.S. Fahmy, K.R. Raslan and H.A. Abdusalam, On the exact and numerical solution of the time-delayed Burgers equation, International Journal of Computer Mathematics, 85 (2008) 1637-1648.
https://doi.org/10.1080/00207160701541636
[8] F. W. J. Olver, A. B. Olde Daalhuis, D. W. Lozier, B. I. Schneider, R. F. Boisvert, C. W. Clark, B. R. Miller, B. V. Saunders, H. S. Cohl, and M. A. McClain, eds. NIST Digital Library of Mathematical Functions. Release 1.1.3 of 2021-09-15. http://dlmf.nist.gov/22.13.ii
[9] M. Inc and M. Ergut, Periodic Wave Solutions for the Generalized Shallow Water Wave Equation by the Improved Jacobi Elliptic Function Method, Applied Mathematics E-Notes, 5 (2005), 89-96.

Received: January 1, 2022; Published: January 18, 2022

